



# Ländler aus Blindenmarkt

MM = 144

E

Bb  $\zeta$   $\zeta$  B b b B b b B A B<sup>2</sup> Bb  $\zeta$

I

$\zeta$  B b b B b b B b b B b b B b b

B b b B b b Bb  $\zeta$   $\zeta$  Bb  $\zeta$   $\zeta$  B b b B b b

B b b B b b B b b B b b B b b B b b Bb  $\zeta$   $\zeta$

III

B b b B b b B b b B b b B b b

B b b B b b Bb  $\zeta$   $\zeta$  B b b B b b B b b

B b b B b b B b b B b b Bb  $\zeta$   $\zeta$  B b b

C c c B b b B b b B b b B A B<sup>2</sup> Bb  $\zeta$

MM = 188 (Walzer)

W

$\zeta$  A b b B b b B b b A b b A b b B b b B b b

A b b A b b B b b B b b B<sup>2</sup> b b C c c B b b B A B<sup>2</sup> Bb  $\zeta$

Kadenz

von I,  
dann Walzer